
C o u n t e r  f o r  a  n o n - b i n a r y  s e q u e n c e  ( i e .  w i t h  s k i p p e d  s t a t e s )/

c r e a t e  a  s t a t e  t a b l e  f o r  t h e  b e l o w  s e q u e n c e :

0  1  →  2  →  4  5  →  6

w e  s e e  t h a t  3  a n d  7  ( 0 1 1  a n d  1 1 1 )  a r e  m i s s i n g ,  s o  w h e n  w e  d r a w
t h e  s t a t e  d i a g r a m ,  w e  i n c l u d e  t h e m  b u t  w i t h  o u t  t r a n s i t i o n s  t o  t h e m
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We then determine how this self corrects for the unused states

A B C
1 I

l 0 0

Ja = I
Ka =,] Q (+ + 1) = Q (t)'

JB =
↳ =,] Q(+ + 1) = QA)'

Jc 0

Kc = I
Q(tt 1) = 0
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O ◦ (reset)

* explain in exam: set, reset, or complement


